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The small size provides better value as it costs $0.50 per 10 ml.        
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 Area of lake is 2 cm2.        
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16a The total number of students in Nora’s class and Eunice’s class are 

different so it is not accurate to compare using the size of each sector.                               
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Possible values of x are -2, -1, 0, 1, 2, 3 and 4        
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Mr Tan will earn more as his earned interest is higher.           B1 
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24a x-coordinates of D = x-coordinates of C = 7       

Length of BA = 4 = length of CD 
y-coordinates of D = 10 – 4 =6 
D is (7, 6)            
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